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QUESTION 1

A Remote AP provisioned in "Split-Tunnel" Forwarding mode has which of the following characteristics?.
A. Local traffic first goes to the controller and is then spilt back to the local network.

B. User Traffic is CPSec encrypted before it is sent to the controller.

C. The user role must have a "Permit" statement in order to locally bridge the traffic.

D. The user role must have a "permit dst-nat" statement to locally bridge the traffic.

E. The RAP uses UDP 4500 to send traffic to the controller.

Correct Answer: E

QUESTION 2

Which of the statements below are TRUE regarding ARM\\'s Spectrum Load Balancing feature? (Choose two)
A. Available only on 5GHz radios

B. Disabled by default

C. Balances client load across available channels/APs

D. Enabled by default

E. Available only on 2.4GHz radios

Correct Answer: BC

QUESTION 3

A network needs to implement L3 roaming. On the Master Controller, the administrator, enabled IP
mobility, created a Domain and created the HAT table with all the IP addresses of the local controllers. He
then enabled Mobility on the VAPs.Theconfigurationwasthensaved.

L3 Mohility is still not working, what could be the cause? (Choose two)

A. IP Mobility must be enabled on all controllers.

B. IP-IP tunnels must be configured between controllers.

C. The Domain must activated on each controller.

D. The HAT table must be configured on each controller.

E. The HAT table must be configured with each controllers supported subnets.

Latest ACMP_6.4 Dumps | ACMP_6.4 VCE Dumps | ACMP_6.4 Practice Test

2/3


https://www.pass2lead.com/acmp_6-4.html
https://www.pass2lead.com/acmp_6-4.html
https://www.pass2lead.com/acmp_6-4.html

P 2L d https://lwww.pass2lead.com/acmp_6-4.html
aSS ea 2024 Latest pass2lead ACMP_6.4 PDF and VCE dumps Download

—— https://Pass2Lead.com

Correct Answer: AC

QUESTION 4

Which profiles are required in an AP Group to enable an SSID with VLAN 1, WPA2 and LMSIP?(Choose three)
A. Virtual-AP profile

B. WLAN profile

C. 802.1x authentication profile

D. AP System Profile

E. SSID Profile

Correct Answer: ADE

QUESTION 5

Metwork > All WLAN Controllers

Network Controllers

IP Address Name Location Type Model Version Status
10.1.10.100 Master Buildingl.flcorl master Aruba7030 6.4.2.5_48774 up
10.1.20.100 Locall Buildingl.floorl local Aruba7 030 6.4.2.5_4B774 up
10.254.1.3 Table3 Buildingl.floorl lacal Aruba320od 6.4.2.5 48774 up

Referring to the above screen capture, on which controller can you modify APs configuration to enable ARM?
A. Controller 10.1.10.100 only

B. Controller 10.1.20.100 and 10.254.1.3 only

C. All three Controllers

D. None of the Controllers

E. On Controllers where ARM is enabled

Correct Answer: A
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